
隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 



隨堂練習 

60 － 28 ＝ 32 

32 ÷（3 － 1）＝ 16 

28 － 16 ＝ 12 

 

                                                                                 答：12 年前 

當王爺爺 60 歲時，建明是 28 歲。在幾年前，王爺爺的年齡
剛好是建明的 3 倍？ 

王爺爺和建明的年齡差幾歲？ 

建明當年的歲數。 


